@

b}
=
IR

hk S E RS R < R
B R SR A~
5 & - AR
%Zﬁﬁﬂiﬁ!

FRAT AP o B4 R ddpn A Bt ¥

SR T ORI (T E R

S
A F MY S B LS ol F SRR AR
BBk 2R 7 NE o FHE-F X ANE 4{{\&—:*"‘?73 Fmt g o~
R o ciEAR o Rl 8:3532 10:050 % 90 A4k -
T Bl B AR E A | b T

AR EIE
L0807 2 20 8 > 2249 7 A1* 5 IFF o
2. BN EEANITD o ok R B Rt BT fos o
3. 3p° Ry %—77”‘?[__5\1\:‘ ) F%‘\»‘Lg KL IEE o
4 RAHRA S E RN R
5. MAHIBFHBLABAPL AT RAAHEST IS

A 0 FRIGEPA AL -

T F 3 5\
FrRIAESRFIIANERIAILI RG> G EERY
Jl/l E\‘@Jl :r%h » TRE G p@ﬁ%ﬁﬂ'é’)@'é%{ ’ x’_‘}_ﬁﬁ’%— Fi*{%\%{

I () PREA BT FE




1. (10%) -+ =#1234xy ¥ 114 8 v 9 J};_“,f » Fex=72, y=2?



2. R T FUIU o
(10%) Eas ik Lr’ﬁ 1%—5»(—1-_ llﬁg%)m:;&‘fr}; 160 cm > ® H P jEHEEE S TR 2L

2 B 4 pg s o e 4
R 22 om o SR RE G A G LS S0



3. (10%) T 5|vRit i #n 2 99 B B Flenfr 2(§ 37 i3 R - B 37

gl %)

(A)1,002,951 (B)3,579,111 (C) 4,954,950 (D)1,227,105 (E)5,815,937



4. (10%) | P fe- #FHEF2FE Rt £ ERLF I rgt ety 402, v 53 Ak
Frg g SR A KR R R o A PR T R R 6 16 e R 3

S 18 R P EN - £ B4



5. (15%) % - t F#noB k3 5 5 F# 305 PP & 2 (6401 12345551234 )

TEATECG m 0 F drm G nend B KRB ERE PG 500



6. (15%) =
T\I.—:ﬁta/SZde A F—JJ 75,’\3 —fr 11 E’fjf% ﬁt’ E H 2 - ﬁ;:j_ R
g mhRE T BB ? FigEF s LI SR Re b2d



7. (15%) & *vabed 5w =i B#c> % abed x4 =dcba > F~dcba 3 % ° 9



8. (15%) t— B~ F A F Sojl 1~99 1T FH B (- Tﬁ*”F“” £ H&- "‘1‘*”?&“” ) - FL
5‘}’ 37 lf,}%g _&r% IT}FE‘TII\H%“@@ BN l[}?{%_i'_:{ | %{Fﬁ‘%—h"rp R R
W RF2EFEP 2B BT EREL 2B H)NTERMET - T 0 &
B3R EE 3AREPTERMET - T (RARDEN Mg ) g

% B

A FI 3T HRRBM G N B L R R B Y



